LIC ASSISTANT PRELIMS
Directions (1-5): - F=fcRad w1 0 wafag (2) o T 9T 4T AT

Ql.% F65% + 172 =7% 34

(a)12
(b)13
(c)11
(d)9
(e)8

Q2.11° X 840 %1 75% =16 = 14 =7+ 4 x 11
(2) 11880
(b) 11088
(c) 12496
(d)22220

ST ° 1S e

Q3.5030 + v3249 — 2087 = 30 Xx?
(a) 80

(b) 100

(c) 150

(d)50

(e)125

Q4.24 X 15+ 122 + 85%120% =?%— 155
(a)24
(b)22
(c)20
(d)28
(e)26



Qs. 691% 1 34% X 61—3 —7
(a) 162
(b) 168
(c) 182
(d) 172
(e)178

Directions (6-10): - = fu 7€ s 71% 4, Ut fafvr= e o anfier wdier o <ol
B aret T St we @ deifera Seert €t 118 @ aur drfeteRt § feu e farmer
Tt formefat 7 @ 3trfiol e aret ferenfeft ot T s wiera awira I 2

grg faearerdl # Icdior fagarfiat
T JET
800
600
400
200 I I I

0

A B c D E

FIGEG]
A 25%
B 20%

C 60%




D 30%

E 20%

Q. forerTera-B | Sttt foremfefit i s, foremera-A o oo st st wen =
fopearr wferemar 22

(2) 25%
(b)20%
(c) 16.63%
(d)12.5%
(e) 15%

Q7. forerera-C # fornfefan sht et e o1, fornera-E W fornfert i el dean g
AT 1 HIfoT|

(a)1:2
(b)2:1
(c)1:1
(d)1:3
(e)3:1

Q8. feramera-D # Sreiivl fererfefart st s qu foremera-E H steiol forenfeft i e
o s AT 1 Al

(a) 50
(b)25
(c)20
(d)30
(e) 15



Q. ferErTer A, B 371 D H sk @1 foreimfela <l spet S o {1ed fohdHT 22

(a) 600
(b)400
(c) 350
(d)750
(e) 500

Q10. forrera-A # Iitof feranfefa sht s, foare™-D | ferenfefa sht ot e | foha
gfereTe 3Tfreh T 1 87

(a) 20% less
(b)25% more
(c)25% less
(d)16.67% less
(e) 20% more

Directions (11-15): = &} 7S W JiRaertstl ¥ Y= o (7) o T YT AT 37T

1fu?

Ql11. 6,18,33,57,108,2, 615
(a) 220
(b) 324
(c) 308
(d) 240
(e) 460

Q12. 2,8,32,72,128, 200
()0
(b) 4
(c)2
(d)6



(e)-2

Q13. 6,6, 12, 36, 144, 720, ?
(a) 3600
(b) 2880
(c) 4320
(d) 1440
(e) 4230

Ql4. 8,21,47, 86, 138,203, ?
(a) 287
(b) 281
(c) 372
(d) 278
() 268

QI15. 30, 60, 20, 80, ?, 96
(a) 90
(b) 40
(c) 48
(d) 26
(e) 16

Directions (16-20) :- F=feiRaa v & vy g (2) & T W ST A RIT M

ATET?
Q16. 145998 =h124.97% - 1120.4 T ? % = 29.04
(a) 34

(b) 27

(c) 25



(d) 20

(e) 30

1
Q17. V575 + V2745 — 2.01 = ?2
(a) 6

(b) 7
(©)9
(d) 4
(e)5

Q18. 10999 T 11.04% =T 10.98% = ?
(a) 121

(b) 130
(c) 137
(d) 133

(e) 127

Q19. 20.94 +12.06 x 15.99 + 7.02 =2
(a) 4

(b) 8
(c) 19

(d) 16



(e) 12

5
Q20. 121+24.08 %1~ x 3.95 =
(a) 36

(b) 28
(c) 32
(d) 42

(e) 22

Q21. A 3R B T Hrgieil § 8 HEIHT o foTT fretent 24000%. T fFowr i €, A g1

ﬁéﬁmwﬁﬁwm%w&mﬁéﬁawﬁ%%m%w%mﬁ&mﬁﬁ

TG ST A | 4000%. 3T g LT § TAT B 379 ST HaAwT o A1 39 ATeier §
T TEAT 7, A o7 o6 T a1 A€, 76001, o et AT H ¥, B % AT T T 14 HITT)

(2) 2100%.
(b) 3800%.
(c) 4200%.
(d) 3400%.
(e) 3200%.

Q22. 3t forer errqeAl | ferc: wegfwirr: 1 qer fehet: d o1 ST shAeT: 1:2:3 3R

3:2 81 34 S frzrenq st € Ue 8 g s o fIg 378 shAeT: 6:5 o S1uTd | frermn
SITAT @ gAY Sifcr foreror & 21 ot Wil 60 fo6.3m. 21 Sirelt &, ar ifom s enq &
TfHfRm A T A




(a) 30 for.am.
(b)24 T,
(c) 20 T,
(d)15 fram.

(e) STH € ®IS T2

Q23. YT, HATLTAAT R ITI0S o ShATT: 12, 5 3R 4 Raenfesai v 4, 11 Raenfear H
Uk 19 o1 iy fora aiient & foram ST EehdT 2, Srem i & 8 8 4 8 faerre &
3R ffda wv @ Areeformn @ 4 faenet g

(2) 22000
(b) 19800
(¢) 20000
(d) 19200
(¢) 21800

Q24. T SIS sht &1 T SRl bt A 3T B gRT ShHIT: 8 T2l 371X 10 St § ST ST
TehdT 21 Afe ST THE THY T AT ST T Hd & dF J1d shifSTe fh foha wwr site
A 3R B SR SIS ST STt STaT o o S T 367 3T 15:16 BT

(a) 4%
(b)2 5
(c)3 %
(d)5 5
(e) 6 5

Q25. 5 T8N 3R 3 Al Te T & it 7 5 %l oL §U 4550%. 3TSId otd &
STel{eh 3 &Y 3TN 5 ey Ueh o | fieieht 12 € 1 Xd T 6600%. JfSid L Eehd




& T I T fora w1t 4, 2 7o 311 2 Tfead firersht s td 8T 2100%. 3RId
Hohd 22

(a) 8 TiT
(b)5 5
(c) 10 &
(d)7 5
(e) 6 5

Q26. 6 T8 Wfdfed 6 = e stk forel il T 120 AT 90 T T 2l 1 hiford
foh Tl T 75% FRITHAT o AT 4 AT UfafeT 8 = teh, GHM H Hl 9
A I Terd=T Tug ot 2

(a) 240 T

(b) 180 f&=

(c) 120 T

(d) 224 fe7

(e) 108 T

Q27. ST e or&q i forell 2y = I &1 wicrerd ® =i ST &, df o 1 g1 @
T 2:3 BT ST & SR AT SR ST T forshar 90 1 10T 12 @ 7 8 7 SfRma
I ISR

(a) 20%

(b) 10%

(©) 15%

(d) 18%

(e) 12%

Q28. T ITET ohl TehuETel Ukl T 31k 16 T AT TTH hi hl ATkl 3T 82
(a) 2/63



(b) 1/18
(c) 1/36
(d) 3/64
(e) 1/72

Q29. 124.74 THf}2 3 T o I 1 ST T 87
(a) 4.9 Tt

(b) 6.3 T

(c) 0.63 Tt

(d) 0.49 Tt

(¢) T I el

Q30. THT &I TR shT =T 37Tq 50 &. Sfaferum shr 23 foram 3R 46 &, Wit o =t 17
o st <M1+t =t e <ar 81 =it 3 39 firsror ot Wi foma fora e ot srer T, foraw
I 60% T BT 52

(a) 18 %.

(b) 22.04 %,

(c)17%.

(d) 19.32%.

(e) TTH T hI3 T

Direction (31-35) 1=t &t TTAT 187 T 5 SATTERT SNl # Yeh TSl o 7 o -
forieeT) SeuTeT ST U | oY 91T | TT T LqTgah eda (hifad R
FraferRaa won & s i



Q3 1. &ft AT # 71 T STerd ua fera 22

(a) 245 T
(b)254 foFea
(c)316 foreat
(d)238 forea
(e) 278 Tt

Q32. 2015 H T T IUTEH 2016 ,H g o TS 2l Tor1 H feheT ST SAferereh /
2

(2) 28%
(b)33%
(c)30%
(d)25%
(e)23%

Q33. 2016 3R 2017 W fHeATeRt 71§ =l @ud 1 2014 320157 TR 78 o

JcaTe | ST foheTT 82

(a)45:53



(b)45: 56
(c)12:17
(d)15:17
(e)30:53

Q34. AfE 2019 H 11 % IcqTe HIT @Ue o ofi= T ST 7: 5 8 I hl Fel IcdEH
280 foRied &, A1 2019 H 71 i @u Tt o sh1 qorT 7 foheT SATerehehi 2/2

(a) 150 foieet
(b) 180 ferieat
(c) 140 foieat
(d) 120 fereat
(e) 220 ozt

Q35. ITTE o Ha H fordt ol 118 ol @ o1 TfcTa SATRrehad 22

(2)2016
(b)2018
(¢)2015
(d)2017
(e)2014

Solutions

S1. Ans(c)

65 1700

Sol. X + 289 =?x 34
100 13

85 + 289 =7?x 34
37% o
34
?7=11

S2. Ans(a)



75 840 11
Sol. 121 X 6 X — X — =7X —

100~ 14 4
121X6X3X60 _
11 o
?7=11880

S3. Ans(b)

Sol. 5030 + 57 — 2087 = 30 Xx?
3000 _,
30

?7=100

S4. Ans(e)

Sol. 24 X 15 + 144 + 17 + 155 =72
72 =676
7= 26

S5. Ans(a)

34 900 117
Sol. X X =7
100 13 17

?7=162

S6. Ans(d)
600

Sol. Total no. of students in school A = ? X 100 = 800
400
No. of students failed in school B = E X 20 =100

100
Required percentage = 300 X 100 = 12.5%

S7. Ans(c)
250 500
Sol. Required ratio=——X 100: — X 100
40 80
=625: 625
=1:1

S8. Ans(b)



350 500
Sol. Required difference = ETS X 30 — 80 X 20 =25

S9. Ans(a)

1 600 400 350
Sol. Required average = — X (— X100+ —x%x 100 + — X 100)
3 75 80 70

:§ X (800 + 500 + 500)
=600

S10. Ans(e)

350
Sol. Total no. of students in School D = % X 100 = 500

600-500
Required percentage = o0 X 100 = 20% more

S11. Ans.(d)

Sol.

6 18 33 57 108 240 615
| Al Al Al Al o)
+12 +15 +24  +51 +132  +375
I Al Al Al A A
+3 +9 +27  +81 +243

S12. Ans.(a)

Sol. The pattern is
0 +8x1-8
8§+8x3=32
32+8x5=72
72 +8 x7=128
128 +8 x 9 =200

S13. Ans.(c)

Sol.

The pattern 1s x1, x2, x3, x4, x5,.....
So, ? =720 x6 =4320

S14. Ans.(b)



Sol.

8 21 47 86 138 203
| Al Al Al Al A

281

+13 +26 +39 +52 +65 +78
I Al 4| Al Al 4
+13 +13 +13 +13 +13

S15. Ans.(e)

Sol.

The pattern is x2, +3, x4, =5, x6
So, the no.1s 80 +~ 5 =

S16. Ans.(e)
Sol.

25% of 1460 - 7% of 1120 = 29

2 1460 — — x 1120 ~ 29
100 100

112
— X?~ 365 — 29
10

9 ~, 3360

112
7~ 30

S17. Ans.(a)
Sol.

24 + 14 — 2 =77
7?2~ 36
7= 6

S18. Ans.(d)
Sol.

11% of 11% of 11000 =?
M % 11000 ~?
100 100

1331

7 2

10
?~ 133



S19. Ans.(a)

Sol.
1 1
21 X —X 16 X==7
12 7
7= 4
S20. Ans.(c)
Sol.
120 - 15 X 4 =7
7= 8X4
7= 32
S21. Ans(c)
Sol. let investment of A and B for initial 8 months is Rs. a and b respectively.
ATQ
80 4
—Xa==-Xb
100 7
a_>
b 7
Let a and b are 5x and 7x respectively
ATQ
12x = 24000

So,a = Rs 10000
and b = Rs 14000

profit share of A and B= (10000 X 8 + 14000 X 4): (14000 X 12)
=17:21

7600
Profit share of B = X 21 = Rs.4200
17421
S22. Ans(b)
Sol. let total quantity of two alloys are = 6x and 5x kg
ATQ

6xx§+5xx§=60
5x = 60



x =12
2
Required quantity of aluminum = 6X X P = 2x

=2 X 12
=24 kg
S23. Ans(a)
Sol. Required no. of ways = “c, x °c, x *c, + ’c, x °c,
12! 5! 4! 12! 5!
= X X + X
8!x4! 2!1x3! 3Ix1! 9Ix3!  2Ix3!
=19800 + 2200
= 22000
S24. Ans(b)

Sol. let height of both the wall is = 40m (l.c.m. of 8 and 10)
So, efficiency of A and B = Sm/hr and 4m/hr respectively
Let after t time ratio becomes 15:16

ATQ

40-5t _ 15

40-4t 16

640 — 80t = 600 — 60t

20t =40

t =2hr

S25. Ans(d)
Sol. let a man and a women can earn Rs. m and Rs. b per hour
ATQ
(5m+3b)x7 __ 4550
(3m+5b)x12 6600

5m+3b __ 13

3m+5b 11

55m+ 33b = 39m + 65b
16m = 32b

m 2

b 1

Let m and b are 2x and x respectively



Let 2 men and 2 women work d hr to earn Rs.2100

ATQ
(2xm+2xb)xd _ 2100
(5m+3b)x7 4550

(2x2x+2xx)xd 6

(5X2x+3%xXx)X7 13
6xXxd 6

13xx7 13

d=7hr

S26. Ans.(b)

Sol. Let efficiency of a man is M.

Let time taken by 4 women 1s ‘D’ days.
ATQ,

75
6M x 120 x 6 =4 x ——=x M x D x 8
6 X120 X 6 X 100

4 x75%8
D =180 days
S27. Ans.(a)

Sol. Let profit earned and loss incurred is Rs. 2x and 3x respectively.

Let cost price = C.P.

ATQ,
C.P+2x 12
CP—3x 7
7CP+14x=12 C.P-36x
50x=5C.P

C.P=10x

2x
Required profit % =—— X 100
10x
=20%

S28. Ans.(c)
Sol. Total possible outcomes = 6> =216
Feasible outcomes = (6, 6, 4), (4, 6, 6), (6, 4, 6), (5, 5, 6), (6,5, 5) and (5, 6, 5)



6

Requi ility = ——

equired probability 1e
1
36

S29. Ans.(b)
Sol. Let radius of circle 1s ‘r’ cm.

ATQ,
> = 124.74

22
7 Xr2=124.74
124.74 X 7

r? =

22
r?=15.67x7
rP=7x0.81x7
r=7x0.9

r=6.3cm

S30. Ans.(d)
Sol. Required selling price of mixture

_(50x23+46x17) 40

X
23+ 17 100
1932 40
= X
40 100
=Rs. 19.32
S31. Ans (d)
) 180+240+200+250+320
Sol. Required average = .
= 110 _ 238 Quintal

5



S32. Ans (a)

320-250

Sol. Required percentage = o X 100

70
— — 0
=0 X 100 = 28%

S33. Ans (b)

200+250 _ 450
240+320 560

= 45:56

Sol. Required ratio =

S34. Ans (d)
Sol. Required difference = 320 — 280 X % — 320 — 200

= 120 quintals

S35. Ans (a)

180
Sol. In 2014 = 720 X 100 = 75%

240
_ —_ 0
In 2015 = 320 X 100 = 75%

200

— —_— 0
In 2016 = 750 X 100 = 80%
m2017= 22 % 100 = 71.43%
350

2018 = 222 % 100 = 76.19%
420

So, in year 2016 percentage consumption of wheat is maximum.



